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1. (b) False 2. (b) False 3. (a) True 4. (b) False
0 03 (+10) gmio gy o | B
Y 5. (c) hates snow 6. (a) pretty 7. (b) 6 miles 8. (a) 12 inches
v 0505 (+/8) uomo gl o | C
9. places 10. country 11. family 12. abroad 13. trip 14. body
0305 (+18) oo gewly o [ D
Y s entry 16. origin 17. combination 18. guide
. 005 (+18) guo gy o | E
19. (e) 20. (a) 21. (d) 22. ()
/4 0 yoi (+10) g gy o | F
23. remind 24. circled 25. share
0 y0d (+/0) o Fwly 2 G
V8 196, () 27. (a) 28. (d)
\ 0 03 (+/8) g gnsly o | H
29. avoid 30. heat
003 (+10) o gty o | |
via | 3L (c) would/ asked 32. (b) had lost 33. (a) be kept
34. (b) that wears 35. (d) isn't it
0 y0i (+/8) o nly o | I
! 36. went 37. respect
(bl 0 /T oo 12 o) 0405 (V/B) oo gty | K
Vo 38. Can hybrid cars be designed to meet different goals?
003 (1) o geusly o | L
39. was eaten by the boy last night
v 0.5 025  0.25
40. who was eating the dinner
0.5 0.25 0.25
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41. (c) We have to take care of parents because they have done so earlier.

42. (b) Free dictionaries may be offered as online, for PCs and apps for smart phones.
43. (d) Electricity can be generated from huge resources of water.

44. (a) Electric cars are better than other cars as they do not pollute the air.

B10 (0305 1) pIS 12 B¢ 9 FA Y Iguw g 3,15 0 505 (+/8) plaS 10 FA G FA 6 ylods &Y 13mw uammio gl | N
45. (b) False 46. (a) True
¢ | 47. (d) Guessing collocations is always hard for all ~ 48. (c) fast cars
49. (Some collocations are more open) because several words may go together to give a similar

meaning, for example
50. A collocation is two or more words combined.
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51. (b) False 52. (b) True
53. (d) When should we use less energy to save natural resources? 54. (c) using
55. Many people are using more and more energy. It causes our weather conditions to change.
56. (They are nonrenewable energy resources) because they take millions of years to form, and we cannot
replace them easily.

0 yoi (+10) g gy o | P
57. (a) so drive more carefully 58. (d) and he spends too much time to do it

\ 0 303 (+18) gumeo gy yo | Q
59. or 60. but

o0 (+/8) g gl o | R
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61. is a physical activity.
62. swimming can help us to live healthier.

0 o5 (+/0) g gy o | S
63. (d) explain the idea in the topic sentence
Y | 64. Doctors
65. are those who make the sick people healthy again
66. Therefore, doctors work so hard to cure sick people and we must know their values.
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